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‘Name: Date: UNIT 1 REVIEWS

QUIZ REVIEW (Thinking Deeper)

1. A rectangle has perimeter 30 feet, width w feet,
and length 10 feet.
Write as many equations as you possibly can that
could be used to solve for the width.
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2.If the triangle below is isosceles, and the perimeter
of the triangle is 28 feet. Write an expression that
could be used to solve for m.
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. SSllmlllg € scales are 1n balance and every

square block weighs one pound, describe how you
would go about figuring out the weight of one star.
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